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What is the solvent of air? and the solvent is water?
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udal A = J glaall A1 - Q] ALS

Q8= 1500 - 54.4=1445.69



e 50.0 g Alasuawl & 15) Jalowodl aL:S ol .2.65% Jsloall 5 porullSI) ay,5lS alzSIL Baied) dnid) ssluss A .12
Tp ol S 0y ,5lS

AliSIL 4 gl Al = 2.65%

J falll A =999
ol ded) AL

100 X = AL DO ofed) A
Jolowed) aLis

265 =50 X100
J sladl a1

2.65 = 5000 ::> 1886.79 g = Jslaal Al

Jglaall 4l



:hloride NaCl in 5as Jylaa 8 NaCl aageall 2)pll ARSI & gial) 4ol L
Ived in *H,0 Wl 5 100.0 g A4 4aNaCl (1 4.00 e




Jgloeall ol dgiall duui)! o CHM.5.2.03.002.10

Olaudas + CJlall OUS I

100 x -
J o-lowod) pomo~
) oo .
100 X = ponouly G gled! )
Jolonsd) pano

$.LJl o 155 mL o L_.mn

aaally 4y sl dll = 99

JSEY) Il aas = 35m]

el cudall aaa = 155m]

Jslsall aan =35+ 155 = 190ml

ol =35 1100 = 18.4%
190

2 euudl! - 238 dxisnll

NEUPAE T - PP | I- DR |

STl 4 shall Al = 99

dj;SJ\ ) A =24ml

Jsladl aan =1100 + 24 = 1124 ml

SRR X100=21%



=l Jslaall aaa La | dada (1 dﬁ*L“‘ 15 % S u-‘L‘“ Jotaa Jard Jgilisall (pa 18 mL addied 1) (15
¢ (mL) Al
Loy X ssbs Jslaal) aas o i i

18 mL

15 % = x 100 , x=120mL
Jsaall x mL

eemjuja’ '11331*-:1',“53_“_;4',0_‘_,&)51\1_5 52

axall g el aas 0 A5 e & aaal) Bdnillg | J glaall ALIKT) ALK g il dal) ALK 45 jea 4 ALK 4,
.J.M@SM
¢ Jslaall (& MgCl, 48 4 La, ¢la 550 mL ( 25.0 g MgCl, ity cusd ¢ 4 ha 0 ghd s 67

25.0 g MgCl Trleel .
g g 2 X 100 — 4.3 % . &’1.1;1‘:.“ d_'un'u
25.0g MgCl,+ 550 g H,O




15 % LiCl ¢» Al Jstaal 275 g (2ol AL LiCl A€ L 68
2?51%;”5 = 41 g : LiCl &<
O 8 5% HCI Jslaal) G aaali e, 25 mL HCI ki dhal g 5% HCI Jstaa (4 b S 4as Jaad 69

¢ ol g ngd) (aant anal) 138 e e
25 mL HCI x 100 = 500 mL- JJM" ana
¢ ¢la 725 mL ) diwl) Gaas e 75 ml 48lab ¢ 58a Jglaa aaald & glall Audl) caa) 70

75mL CH,COOH .
x 100 = 9.4 9 - aaal) 4
75 mMLCH,COOH+725 mL Yo @ sl




“ethanol in a solution oo gins ylaa 3 SR aaall gt Ll L
ssolved in 120.0 mL of water?  ®eldl 0 120.0 mbL & L Jgly) 5 40.0 mL




s o Olghas s - puSally Jslall amg Collall AS ol Y gall slac) die 25V sall e CHM.5.2.03.002.05

Oldudal + 6 Sadl + 2]tk + CIlall QLS 2 pwd)l - 240 9239 5238 Olxaall

Page 238,239, 240 - Section2

- mass of solute and the volume of the solution and vice versa - Describes the steps for . . .
P Text book - student edition + Example 2 + figure 6 + applications

oSy Jglomall pzeg iliall AES ol Y goll slag) is 4y sall Loy CHM.5.2.03.002.05

Gl + 2Jbe + LIl LS 2 ol - 239 9238 Gilxisall

l_J.A_A.d.lJ_lﬁ '2” Lo F;-.;-.JL ‘“9:._4J'r A dJ_.jJL ““93_4J| FIA ) “"r AJJ?S.QJ'

AS) oo & ,¥sall Saiads ;L-Jl—an' 2S5 e A et assli) g3l o
Sl o¥ss 33e o (M) & ::,...n Jolos]! ,54,_, webd) Legd 4_;I._~._-a-9J1'
_a_a_-..ng I35y g ¥sel) 58 2L Lai & 5,850 Copah Jslod) o L1l b &5l 1)
1ML|9JJ'“°9‘Q"—"M-°JIN1mDIUJ‘££9mJ9J:“‘WfJ—°‘ J¥es M
ngm S1idl e 0.1 Mol le ot Jolons e 52 hads ¥ael Joloo
¥l J0ig J_.JJL. Jolonod) g 8,20 G Jslondd) a)¥50 olusds .01 M
lagd

= ded) ¥ go doe




oI 2haad sl Saliasd a3 aadas)
A Jslondd) (s91ud Juad G (3593
33&53)) aedLa)

2 DI Ll 2 sgdas)
gerd) 3 ,5])

lig) alzd Lulss o1 selas)
MLM L""‘"" CPLE UJ.‘ JL.'ASg
ceded) o dwlis S Gle goio

iy g 6 JS DI
Joloo juass Wlghas
D) Golsi) ol 4.8
AR RN
Sals S (e 375 g ‘23\..'4\‘
I B A% () Galead)
sloey sl a1 L

1.5M (Jolona



Joloned) % ge 20s fadaie

AUL Joloed) pans

= (M) ZJ“J’,‘."

(CH1206) s9Sslad) 0 40.0 g Lo 5520w Blw Jslowe G350 Lo .16
Ssladl 5o 15 L 2

i sal) ABUC6H1206= (6X12)+(12X1)+(6X16)=180g\mol

M =2?
alis C6H1206 = 40g
Jsiaall aaa = 1.51,
Y gall a3e = ALiC)) 40
- ——— = (),2 mol
A gal) ALiSI) 180
, 0.
4N gall = . =0.13M

1.5

4N pall

KBr ;e 155 g <@ 31is 1160 L cos Joloe @)¥50 cans) .17

M=272

LS KBr = 1.55g

45l AZSH KBr = ( 1x39)+(1x80 )=119 g\mol

Jsaall aaa = 1.6L

Vgl s =418l 158
al galt ALi<)) 119

~0.0130 mol

1.60 L

=0.01 mol

= 8.13x107° M



o A U8 2 NAOCI e 95 G (e ssims cudle Ualed £¥s0 Lo .18

M=??

4i< NaOCl =9.5g
Jslaall aaa =1L

44l gal) A1<Y NaOC1 = 74.5 g\mol

Y gall aae = ALKl _ 95 = (0.12mol
a.“d\g-dl EUESH 74.5
M=cV¥sdlae =0.12 = 0.12M

Jslaall aaa 1

fuaidll

(CalOH)2) pslS)) auiSg e oo Lil,> oS L
85555 15 L aums Jslowa asa) a3l

90.25M
ali< Ca(OH)2 = ??

Jslaall aan = 1.5L

M = 0.25M

d gal) i<l Ca(OH) = ( 1x40)+(2x1)+(2x16)= 74g\mol

M = <Y gal) 230
Joaall aaa
<Y gall dae
0.25=

7(1.5

¥ gal) 226 = (.25 X 1.5 = 0.375 mol

ALic) = ¥ gall 22 X 4 gal) ALY = 0.375 X 74 = 27.75g

19



CaCly o 0.10M Jolows 0 1.0 L L3 a1ig)) CaCly alis L .20
LS CaCl2
38,4 = 0.10M

asali= 1.0L
A gall Al CaCI2 = ( 1x40)+(2x35.5)= 111g\mol

Y gal) dae = Al

a4l gal) 42i<]) @Y gall 23c = 4ligl)

Al gal) Adigt)

0.1 = ably
111

A ¥ gal) = Qldall CiY ga 230
aaall

0,%’3&“ e
.0

<Y gall 322 =0.10 x 1.0 = 0.10 mol

A =01x111=11.1g

Jslos dlaed (L) e 500.0 ML 3 oi1ig ol deaw CaCly o Gl oS .21
sCaCl; s 0.20M

L CaCl2
S =0.20M

axall= 500 ml = 0.5L
44 gal) A1) CaClI2 = ( 1x40)+(2x35.5)= 111g\mol

A Y sal) = Q) Y ga 230
aaal)
0.2 =<l o g 2
0.5

Hiall e a2 = 0.2 X 0.5 =0.10mol

Y gall das = Aligl)
Al gal) ALigt)

0.10 =,<¥sall 230 |:> Al =0.1x111=11.1¢g
% 111




solution containing 40.0 g 3sSslall 50 40.0 g o s5ias Jslae 3 Vse L
ion? Tlsladll e 1.5L q-i (CGHI 205)

JsSeladl Glgall Abh

180.16 g/mol
Molar mass of Glucose

'

(]
.

e




+ molarity of an aqueous solution KBr 5« 1.19 9 e (9ias Sl Jolae Ve L

.19 g of KBr in 2.0 L of solution? kel e 2.0 L
s of KBr = 119.0 g/mol) (119.0 g/mol = KBr I 3.0 aksl)
s Covered

002

2.50 x10™ M




3548 Sy 250 mL ii>=> NaOH Jodlowe Uﬁ ir939o)l NaOH FAPLS U.ALQ 22 agm> Jolova gj 5393g0l] (CQHgoH) Jela¥) e salo m .23
3.0M 0.7893 g/mL ,a Jlu¥) isLs $0.15 M &35 55 100.0 mL
‘:‘-\35 Na_OH =?? ‘-‘3‘,,};-“ agl) C2H50H= (2X12)+(6X1)+(1X16)= 46g\mol
il gal) ALS) = ( 1X23)H(1X16)+(1X1) = 40 g\mol JHLN paa =
aaall = 250 ml = 0.250 L Jdslaall a2a =100 ml = 0.1 LL
S _Al=3.0M Jstaall {:‘sﬁ-“ = (0.15M Ve i
) _ J s 4dUs = 0.7893g\ml adudl) = alil)
A N gal) = i) G ga 23 1 . !
sl = o (aaa: > ag N sal) = ildadl &Y ga dae P
' asal) PECN| = 4ligl)
R | KN | I PR T ) 48g])
0350 0.15 =l O ga 2
! =069 g.37ml
<Y gall 23 = 3X0.250 = 0.75mol Hall CY g4 22 = (.15 X0.1 = 0.015mol 0.7893
e gall 236 = Al gl a0 = AL
i3 gal) ALi)) 4l gal) 4lisl)
0.75 =,V g4l 2 =30g 0.015 = alg)y E>4.hs.n—oﬁ)g
74 40 )( 46




¢ ¢l 275 mL 2 il 15.7 g CaCOs s sinall Jslan & ¥ 58 ) 7]

mol CaCOs3; =15.7 g x 100 — 0.157 mol
100.01 g

275 mL x ( 1L/ 1000 mL) = 0.275 L : aaadl

0.157 mol _ = L ‘
T = 0571 M 1A Y
£ 122 g LiF (o 3% 3.00 M oS 5 Jslas aaa L 72
mol LiF = 122 g x —22% = 4.71 mol
259 g LiF

471 mol/3.00 M = 1.57 L : Jslaall aaa
€ 10.0 M 23S 555 1.5 x 10° mL 4saa Jglaa Jaad asdics BaS (4 Y30 a8 73
1.5 L=l Jsladl ana

— X 1.5 L = 15 mol : <Y sl 22¢
3.5 M Jsiaa 0 2.0 L Jaxd &a D) o) all CaCl, A58 La, 74
mol CaCl, = =22 v 2.0 L = 7.0 mol

10.0 mol

110.0 g

1 mol

mass CaCl, = 7.0 mol x =770g



ool L (3 dlazonalt Dotsenlt dodd) i3 30 20 3530 Jglonn (30 i Jglone sias 4uuS iy CHM.5.2.03.003.01

Giladal +3 Jbe +7 S+ Il QUS ja

2 o)l - 242 9241 Glxisall

it Se) 524 23l
MV = MV,

0.300 L i Jolos slacy o33 3.00MKI Gubad) Jalood) o> Lo .24

M1 = 3.00M
V1=2?

M2 =1.25M
V2=0.300L

e 100.0 ML ,casa) 4530 5.0M HpSO,4 wladl Jslodd) g s .25

M1=5M
V1=2?
M2 =0.25M

V2= 100 ml = 0.1 L
1000

S1.25M Kl 335 55

Ml1XVI=M2X V2

_M2XV2 = 125X03 _
M1 3

$0.25M H»SO.

M1 X V1= M2 X V2
viMZX V3

M1 N\ 5

0.125L

0.25X 0.1 _ 0.005 L



5.00M 455,55 0.50 L Ziss HCl tpo pasled Jslowe Caasi & 13) ains .26
fbel,adls Jolowsd) 8 33929l HCI 328 Ja L3 2.0 L Los foadd

M1 =5.00 M
V1=0.50L

V2=20L

4 HCl = ??

4l sal) ALY HCI = (1x35.5)+(1x1) = 36.5 g\mol

<Yl e =M1 X V1 =0.5X5.00=2.5mol

<Y gall a3 = 4liS))
4yl gal) AliS)

A<l = 2.5 X 36.5 = 91.25¢
36<

€ 1.0 M HNOj ¢» 225 mL Jasd a3 alliady 5.0 M HNO; a3a W .76
M,V; = M.V,

=(1.OM x225mL) /5.0 M =45 mL

¢ Laal) Jelaal) 4 W ga waal | 250 mL wdﬁudan&OM o S 5 Jslaa (pa 55 mLL <2835, 28 77
M]Vl - M;;Vz

M;=(40Mx55mlL) /250 mL =0.88 M

25=



Which of the following is correct a bout diluting solution?

Learning Outcomes Covered

a¢ CHM.5.Z2.03003

a.
The total number of moles of solute does not change

b.
The total number of moles of solute increases

d.
The total number of moles of solute is doubled

¢ shaall Ciagias J g

Yol b oyng




(CaCly) stock  2.00 M 55 (CaCly) g€ 23,980 ulil) Jybaall pas e
0f 0.5MCaCl,? 0.5 M 55 CaCly 5 0.5 L auas Jylaa juastl 430

B

»

172 mL

N — QD
- .
250 ml




What volume of a 3.(00) M Kl stock solution Jebaa ey 230 3.00 M KI bl Jglaall aas la

would you use to make ().300 L of a 1.25 M KI solution? f1.25 M Kl 3824 0.300 L 4ana

Learning Outcomes Covered

o CHM.5.2.03.002

| 0.063 L
b.
0.250 L
) 0.720 L
e A .. <



T Sally el 4S5 Lolia LS of =Y gl ;thc!mi_d}l}diMCHM.S.?.GE.OULU?' lidal + 4 Jbo + Il u_.JuS'ua.': I 2 el - 243 Cilxaa)l

B ol 5 o e s

3 ae Joloudd! u_s;l,..JIJ.S,.L.Y Jaloadl B,¥58 3 pasdl 3 450 i

porssiall 58l 30 4.5 Q Bk sl 3 ! o dga EDY ged) Colusas 1AL Vst 3i o) Cany Bl sadll o 13 3,0e) il s
sl 2053 sl oLl 34 100.0 g ) (NaCh by — AW gad) ingll 1in o T cudd) (a 2ad S Y S3gesal)
- Ad¥se M o.L:»’." ’).u e O ey | kg U" dag>aedl LIAY SV es dae
ULH-”‘J}'{ B 1kg 18 L1idl o 1 mol L g0 @il Jolondd) 555 Sl
IV a3 Gilas SBISLL @b .olid) ¥l sae 31> alillly cuddl) QLS SLA am) AVse
Jsge n:-:
m = ¢ mol/kg 100.0 g = (H,0) (L) &S . hax 2
(KQ) aied! AL2S
Jopaned) Slus
A4l S¥gd sie wss! 45 g NaCl x —LMOLNACl__ g 677 mo) Nacl
es AP EOS AN e o 5844 gNaCl
‘ o 1kgH
1kg/1000 g Mgaiuat Cobel yor plaS! ) Solal yand? (oo H20 AES 3o 100.0 g H,0 X 'KTOOQQ_I-LO = 0.1000 kg H,O

Al Jog @09 e Lunadll ipladl) gaal) ade

0% gt st sl o ks
Slas i

R
o . Sy 0.077 mol NaCl
,0.077 mol NaCl = wlidl c¥es sde yade m= = 0.77 mol/k
.0.1000 kg H;0 = wuiadt 4GS 0.1000 kg H,O 9
PP (e

OV 1 [ LT FET RO UM N 08 p'ﬁ-#es s B Sl e Jas Sz e J.ﬂ -"-4 ols & Ly
El¥g S U.IUL (el fgian Cpued f”a,...ﬂ SayelS alsS e ,,..nJ’ aa) ade LLESS Le «.Ua, -y
Oe) Ofsian Geedp lyie sEad Li)



) %o Soe
(kg) caded! LS

Seled) 30 1000.0 g 2 2505 NazSO4 e 10.0 g e 925 Jslome &I¥od Lo .27

= (m) 0% ged!

m=??

<lial) ALE Na2S04 = 10g

44 gal) A1SH Na2S04 = (2X23)+(1X32)+(4X16)= 142g\mol
cwiall A H20 = 1000g = 1kg

1000
‘4t - 4sy) _ 10 —  0.07mol
4] gal) ATiSH)

m =GR SN 07 = 0.07m

$1.00mM o555 Blo Jolos einsi) .as33U) (Ba(OH),) aliS Lo daed .28

ldal) AliSl) = 29
ildall A gall ALS) = (1x137)+ ( 16x2)+(1x2)=171g\mol
m=1m
Sllall OV gall 23e = 1|1 = S Al oY Al

-

4l -

gl gal) ALiS))

[ D. A =171 g
ﬂ171

GTI‘:IA.“ oY ga de =




¢ ;u95gg§@1375_3g1{c1 s 50 Jslaa Y 5a La .80

1 mol KCl
— - |
75.3 g KCl x 4.6 g KCI 1.01 mol : &Y sl 22

95.0 g x ( 1kg / 1000 g) = 0.095 kg = &l > LIl clal) Al

m = 1.01 mol KCI —10.6 mol/kg
0.095 kg

¢ 8.20 mol / kg 45 sa Jslaa Jand cla 155 g 2 Lilisd e NarCOs O Wl oS .81

' kg _ - elall Al
155 gx 1000 0.155 kg : ¢

mol Na,COs = 8.20 x 0.155 = 1.27 mol
1.27 mol x 2229 — 105 g : &) sl A1)

1 mol

Mm = 128 g/ mol ¢ sLa 500 g 2 I3 CgHg 2 30.0 g 5552 Jslna dV g0 La 82
80 a2, Jie

€ 35.5 % s9S da g8l Gaman Cra Ala Jelaal AWKl 8 At ldal A gal) ¢ Jad) g AuIY e La 83
35.5 g HCOOH / 100.0 g solution 43 23 % 35.5
35.5 g/ 46.03 (g¢/mol) = 0.771 mol : =Y sall 22c

100.0g —-35.5g=645g=6.45x 1072 kg : ¢lall 41

64.5 g/ 18.02 (g/mol) = 3.58 mol : sl &Y 50 222

m = 0.771 mol HCOOH / (6.45 x 102 kg) = 12.0 m : 44Y 54l
Xx=(0.771 mol )/ ( 0.771 mol + 3.58 mol ) = 0.177 : (S5l ¢ =]




Which of the following express molality? fANsall e el b Las 4‘.
rning Outcomes Covered

o CHM.5.2.03.002

moles of solute IRl Y ga 22
liters of solution (L) sladl) ana

moles of solute X liters of solution  (L)Jsaall aaa X I &Y 5002

moles of solute QAN Y se e
. kg of solvent (kg)euiall AL

moles of solute X kg of solvent (kg)suiall A€ x 24l Y o 220



Which of the following is the correct unit of molality? TALY gall dasaall 3an 5l o

Learning Outcomes Covered

o CHM.5.2.03.002

_ "
b.
mol.kg
| mol/L
d. IF ------------------------------------------------------------------------------------------------ 1I
i mol/kg i



ty of a solution containing 5.0 g of (NaCl) ppsspeall 2,98 50 5.0 9 o gsins Jylas AlVpe L
{aCl) dissolved in 100.0 g of #(H;0)eld) 1« 100.0 g g 2l

Molar mass 34dyall AkSl Compound 4!

(NaCl) pyguall 23,958
Sodium chloride

38.44 g/mol




&y galls dspVgall g OO - Sty Caodalt AiSh Oldalt A8 of e gall cllas] wie Y gl G CHM.5.2.03.002.07

Jlall QLS a 2 ouddll - 243 Olxisal

of solute and mass of solvent and vice versa - Compare molarity and molality Text book - student edition Page 243 - Section 2

T A gall g Ay Vsl G G0 L 63
Al Y geae o AV sall | Jglaal) e A ST iRl Y g 2aay i puaal) Jsladdl S 5 8 ds Y gl
LAl B a s o e aaial Y A sall | culall (e al g LS
(k) al Jslna o Blda Jglaa fppsi die L) B AU o) o Jalsdl L 64
ABNall DA e o sllaall Caddall Jglaall ans 94 )Y sall 5 (ol J glaall aaa 545 Y 5l
M,V, =M,V,
¢2.0 M NaCl 5 0.5 M NaCl Jsiaa G BAY) La 65
0.5 M xS, 93 Jlaall e S0 53 JSI Y ge 20 55883 2.0 M S 5l 53 J sladll
¢ 13laly AV salls Jslaal) Aleasl) chay Cag i g a3 66
Boloalldn oy 5 Y A5 el AL e adiad AV gadl GV Bl adl Ay pad ke



| Textbook+ Figure 8 + Applications

Feeall) CULS CESS. cuddlly lid)) Vsd sae S,z 1) Tl )
,l q._a'-L.." uy,a dac L..m ,.A, iq"‘.” ,!-S.’l.p d,—n Lu J,-la‘” ,‘S)a u.‘
8 gsdu u-' tbod

HJ-L.-” U‘" 9JLu>U S jey wliS 2 UJ,"‘" _,....S.U dsle XJ..)." P.Lau.uu
Sl el raSlly (X)) CoigU gJ,Jl _,....Sjl oo Juead)l 58S )il

gJUlS (Xg)
r“"}-’"ﬂ Xg 9 Xa ?."" '
a3le .J.b o el Y = ny o= ng
Sac ul—qn” n, A nA+ ng . nNa A ng
Ble K ¥ gl

Aler¥) saall Lle Liguwas Jaload) 3 Cuidll of Q1AL G¥9d sae Jaad) 3uSI golud
iy AN ¥ed)

o 36 g e soine lslSsrnns)) Gaes Jslone ) U 8 Jlis)) Jurs lad
J...Ul Jlass) Sz ca¥es ) J..S.II ada Je>a) .H20 o 64 g 5 HCI
(Jogsd JalaaS 35l

- 1 mol HCI _
Nua = 36 g HET < 36,5 g Her 0.99 mol HCI

Muo = 64 gHZO x 1‘8"3°' H:O _ 36 mol H,0

(SIS oLy HCI 1 200s2l) 50l e enal 555

_ Ny _ 0.99 mol HCI N
Xuar = Nuct + Muo  0.99 mol HCI + 3.6 mol H,O0 0.22
Xu,0 o 2.6 IONHD = 0.78

= P + Mo 0.99 mol HCI + 3.6 mol H,0

b slSe 0 sae>
Ple ol 3

78%
H,0

an + XH,O — 1.00
0.22 4+ 0.78 = 1.00

o

sae ) Jead) S 525 B JS LI w

sae ) FPOMA T \_.g-\...”, wlid ¥ ge

N 5550 Jslod) 3 e ¥ ¥l

olad E;,....S...,ziuhvj,.n,_.svun

LU VJ,.J! eaSI JEI Jorne

LaS Jealt L.;,.,g‘ 1.0.78 52 (X 4 0)

k) e 78% UL; g9 Jeloall & Al
(,J,.n A ISL....J) ¥




¢ Jallaall il g€ i gl Auall (5 b (uadd) A La 31

(o s A )Y gall g anal) A | (5 AT A4S JSI Il Y g0 230 bl (e Jgall ¢ Gadl ¢ Y sall ¢ 45 54l
LA sie s (b anall A g ALK dps | adall AaaS ) s Jgall ¢ ad) g 4 sall ¢ Jslaall ana

¢ Im NaOH 5 1M NaOH Jsisa G EAY) g 4lial) dag) pud 32

celall 0 kg SSINaOH o+ 1 mol e Tm Jsbael) | elall cauddl 2 laeS NaOH s a3 Jallas Laa2s
Jstaall Lais 35 padl Ay il Jgladl 138 5 Jglaall e 8 JS3 | mol 582 NaOH (e 1M J staall
Bl da pn et S Y Y s



Aol sl = 4 gial) dandl)
100

Ay gial) dpudl) = A gal) sl X 100

NaOH (o 22.8% e goion Sl Jsloe 5 NaOH_J Jsud) ,us)l Lo .29

Cal: 3L
o 5all sl = A gial) sl |:> Aol Sl =22.8% = 0.228
100 100

sa Bl Jsloa ;3 (H2S04) el o8I (e sall 35S 1S 15) 305 .30
tH,SO04 J alzfil dgtg)) arulll o b .0.325

A gial) Ascdl) = A gal) Jusl) X 100
A gial) aedll = 0.325 X 100 = 32.5%



¢ JSal) 2 daud gall & gial) uedl) (g gian sl 2 H,SOy paaad (A sall 552l La,84
4 ool duwdl = (Jgall sl
100

27.3
27 =
0273 -

¢la 175 mL 2 132.1 g MgCl, &34 & 98a Jsiaa 2 MgCl, pssiial) 5188 A gall ¢ 5al) vl 85

1 mol MgcCl
132.1 g-MyTT, x 95.21;‘ 2 = 1.387 mol Mgdl,

1.0g-H50" 1 mol H,0

TmlH;0" 780gH,0
= 9.72 mol H,0

175 miH50 X

1.387 mol Mgdl,
*mq0: = 7387 mol MgCl, + 9.72 mol H,0

= 0.125



What is the mole fraction of NaCl in an agqueous solulion Siny Sl Jplase A NaCl J dgadl sl L
that contains (.735 mol NaCl and 6.0 mol H,07? ¢ 6.0 mol H,0 50.735 mol NaCl e

Learning Outcomes Covered

o CHM.5.2.03.002
o CHM.5.3.01.012

| 0.99
b.
0.74
| 0.89
Y /7 A\ \



c acid (HCl) oo gins Jslaa 3 (HCI) wbyslSy gl anad Jsall oSl L
rochloric acid olial JSN & Aldl (H,0) elally liyolSy ngll e duwas
low?




